TER20FERERBEEDERFREIERR

TH2FTAIE B

=ES =FE =IE 1 =EE2 #*EE3 =1 =2 o iE
o . ZiF 15.7 1.9
I FHaAnLERRRE mes oy R S T L e — 5
#Et 19.0 5.2
HE wa (Z=H) 3.0
BRE RERE N (EH) 3.0
1 I RERENLEEDRARAE 24 #Et 8.3 11.3
Uh hE [ii]=] 35 (=A)
KRB RIGRE INEE 35 (EH)
#Et 163.8 160.3
1o = A (ZZl) 13.7
B et BRE %I e It Za) 157
#Et 253.2 266.9
+hh 393.2 393.9
+h2 89.6 88.9
HAER FHPIXFTF 16.9 6.1
I HERSHEENTEERAE (EMaX*F) - -
B HEKR (2E) MAZEDEED R E 21,114.6 21,103.8
N AAEOEDRE - hH 57033 5,704.3
- k2 296.8 295.8
= +hh 53215 5322.3
91 ek R 2665 265.7
5 §§1(112) E%;nz)
" p— L2 HF%(38.4) HH%(38)
I ##E%migﬂiﬁﬁaaﬂlﬁ TEEMEL b (1.7) dbia3E (2)
Eﬁﬂllikiiék;ﬂiélil)ﬂ[gﬁ q (S (1)
DMAE DL D RE[F : - = ; 'S
AANORHARES IS I ANTZ HAE(153)|  LAE(100)
I HERHEENTRERAET Wt
BERFHERR (2E) HIEER (MAZEDED R 26,719.4 26,708.6
NMAE DTS O RBIEE R +MAEDELS O RE)
= 8.9 96
£ INEE 393.2 3939
R =g 0.7 (HIBR)
FIEEE = NG 89.6 88.9
FHAXFF [ii]u] 16.9 6.1
(EM2X%F) INEE 16.9 6.1
I HEEHEEHTEGERE NAZE DR R E 21,1146 21,103.8
FELE R R KR (BRERTIR) 2 = 410.0 411.0
DIMAZ DD R EE N 5,703.3 5,704.3
== hs = 10 (HIBR)
- g 296.8 295.8
=E 410.0 4108
e £ INE 53215 5322.3
2-2 = hs = 08 (HIER)
- Nt 266.5 265.7
I HERHEEHTERADT wa 228.9 2181
TR KR (BRERFIR) HIEER —
DMAEDEDRBIE At 21,1146 21,1038
EIRRBE 1,154.9 1,155.4
- MAEDFELIS O R HtEt
I BEREEEHFEGRE 9 B fag 4o £ 1oy 5,604.3 5,604.8
FUB AR HOR (ARERTR) REEH ;ﬁf%*ﬂ“*ﬁ%m
DDAEDFELSN O RBI[E £l A&
BAZSRANORBIFRRH (DAZDEDRE 26,718.9 267,086.0
+MAZDELS D RE)
I BERHEEHTEHAZD o 2412 230.4
AR KR (RRERFIR) FIEEE -
3) 1) RU2)DEE At 26,719.4 26,708.6




